INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols. (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

TITLE OF INFORMATION COLLECTION DOCUMENT

Horse Protection Regulations

ОМВ NO. 0579-0056

(F)Total/(D)Total = (E)Average (E)Average

(F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total =

DATE PREPARED

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.

January 10, 2009

IDENTIFICAT	TION OF REPORTING OR RECORDKEEPING REQUIREMENT		ANNUAL BURDEN							
			REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)
	(D)	(0)	(5)	RESPONDENT		(0)	4.0		KEEPER	40
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)
	Request for Certification of DQP Program and detailed outline of such a program	None	9	1.0000	9.00	3.0000	27.00			0.00
9 CFR 11.7(c)(2)	List of DQPs who have successfully completed the certified DQP program and have been licensed under the Act	None	9	1.0000	9.00	1.0000	9.00			0.00
9 CFR 11.7(c)(3)	Notification to USDA of changes to licensed DQP list and any warnings or revocations issued to any DQP	None	9	2.0000	18.00	0.5000	9.00			0.00
9 CFR 11.7(d)(1)	DQP records of Disqualified or Excused horses	None			0.00		0.00	160	2.500	400.00
9 CFR 11.7 (d)(3)	Certified DQP program report on attended events and identity of disqualified or excused horses	None	9	12.0000	108.00	1.0000	108.00			0.00
9 CFR 11.7 (d)(4)	Trainer and owner notification of horses allegedly found in violation of the HPA or regulations	None	9	120.0000	1,080.00	0.2500	270.00			0.00
					0.00		0.00			
	SUBTOTAL				1,224.00		423.00	160.00		400.00
	TOTAL OF ALL PAGES				2,788.00		936.13	820.00		1,330.00

recordkeeping requireme (D) &/or (I) = 13a (response) (J)Average	this form when a single information collection document involvements. The totals of the figures in cols. should be entered in item 13 ordent is only counted once); cols. F & I = 13b; cols. H & K = (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G) ill calculate automatically. If Col. E's response is something other rill display.	of OMB-83-1: = 13c.)Average (K)T	cols. otal/(I)Total =		MATION COLLECTION TO Regulations	ON DOCUMEN	т		ОМВ NO. 0579-0056 DATE PREPA Januar	red ry 10, 2009			
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT				ANNUAL BURDEN									
				REPORTS				RECORDS					
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER RESPONDENT	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD- KEEPER	TOTAL RECORD- KEEPING HOURS (Col. I x J)			
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(I)	(J)	(K)			
TOTAL - COLUM	INS "F" AND "I" = OMB 831, 13 b; COLUMNS "H" AND "K" = OMB 831, 13c				3,608.00		2,266.13						

(J)Average

list as "1/6" & decimal will display.

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: (D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c.

NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years,

 $(F) Total/(D) Total = (E) Average \qquad (H) Total/(F) Total = (G) Average \qquad (K) Total/(I) Total/$

TITLE OF INFORMATION COLLECTION DOCUMENT

Horse Protection Regulations

0579-0056

OMB NO.

DATE PREPARED

January 10 2009

list as 1/0 & deciliar	will display.								Janua	ry 10, 2009	
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT			ANNUAL BURDEN								
			REPORTS						RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
				RESPONDENT					KEEPER		
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)	(K)	
9 CFR 11.7 (f)	Certified DQP program written warning to DQP of unsatisfactory performance	None	9	1.0000	9.00	0.2500	2.25			0.00	
9 CFR 11.7 (f)	Request by DQP to USDA to appeal license cancellation	None			0.00		0.00			0.00	
9 CFR 11.20 (b)	Written notification to USDA and certified DQP programs by management of unsatisfactory DQP performance	None	5	1.0000	5.00	2.0000	10.00			0.00	
9 CFR 11.22	Records of events containing Tennessee Walking Horses or racking horses maintained by management	None			0.00		0.00	600	1.500	900.00	
9 CFR 11.24	Management report to USDA of any horse show, exhibition, auction or sale	None	1,500	1.0000	1,500.00	0.3300	495.00			0.00	
9 CFR 11.41	Certified DQP program annual report, rulebook, and quarterly reports on disciplinary actions	None	9	5.0000	45.00	0.0750	3.38			0.00	
9 CFR 11.2 9 CFR 11.3	Documentation by APHIS personnel concerning persons involved in alleged violations of the Horse Protection Act	APHIS Form 7077			0.00		0.00	60	0.500	30.00	

INSTRUCTIONS: Use this form when a single information collection document involves multiple reporting and recordkeeping requirements. The totals of the figures in cols. should be entered in item 13 of OMB-83-1: cols.			TITLE OF INFORMATION COLLECTION DOCUMENT						OMB NO.		
(D) &/or (I) = 13a (respondent is only counted once); cols. F & I = 13b; cols. H & K = 13c. (F)Total/(D)Total = (E)Average (H)Total/(F)Total = (G)Average (K)Total/(I)Total = (I)Average (I)Average NOTE: The columns will calculate automatically. If Col. E's response is something other than annually, i.e., 1/6 years, list as "1/6" & decimal will display.				Horse Protection Regulations						0579-0056 DATE PREPARED January 10, 2009	
IDENTIFICATION OF REPORTING OR RECORDKEEPING REQUIREMENT						ANNUA	AL BURDEN				
				REPORTS					RECORDS		
SECTION OF REGS.	DESCRIPTION	FORMS NO (S) (If "none" so state)	NO. OF RESPONDENTS	NO OF RESPONSES PER	TOTAL ANNUAL RESPONSES (Col. D x E)	HOURS PER RESPONSE	TOTAL HOURS (Col. F x G)	NO. OF RECORD- KEEPERS	ANNUAL HOURS PER RECORD-	TOTAL RECORD- KEEPING HOURS (Col. I x J)	
(A)	(B)	(C)	(D)	RESPONDENT (E)	(F)	(G)	(H)	(I)	KEEPER (J)	(K)	
9 CFR 11.40	Reporting requirements to APHIS upon request concerning persons involved in transportation of certain horses	None	5	1.0000	5.00		2.50		(3)	0.00	
	SUBTOTAL				1,564.00		513.13	660.00		930.00	